
TABLETOP TV STAND
Soporte de TV de Mesa • Meuble TV de Table





M6x14 (x4)
M-B

M5x14 (x4)
M-A

M6x30 (x4)
M-C

M8x30 (x4)
M-D

M8x50 (x4)
M-E

M-F (x4) M-G (x8) M-H (x8)

A B C D E
F G H

G

G

Peel o� adhesive cover and apply below P-1



C D

E

B

A

Attach P-3 and P-5 to P1 using provided screws and washers

Attach P-2 to P-3 with provided hardware



H

Attach cable holders



M-F

M-G

M-F

M-H

M-C
M-D

M-H

M-G

M-F

M-E

M-F

M-H M-H

M-G

M-F

M-E

M-H

M-G

M-F

M-E

M-C
M-D

M-C
M-D

M-F M-F

M-BM-A Attach P-4 to TV

Use necessary
spacers for
curved TVs



F

H

Hang TV to desired height. 
Lock the TV in place using F.

Hook exposed
cables to holder




